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MENTAL ABILITY AND
SCHOLASTIC APTITUDE TEST

Time + Part - 1 : 90 Minutes Meax, Marky 1 90
Tine ; Part ~ 11 3 9 Minutes Mav Morks : M

Instructions to the Candidates

Read the following instrustions carefully before you answer the questions. Answers are 10 b
SHADED aia SEPARALE aiven OMR Answer Shuet with 2 Blagk Ball Point ['en. Read Lhe
Instruttions printed pnthe GMR Shreet carefully.clore answering 1HE qdestions.

1. Please wrile vour Cenire Code No. and Rell No. very cleatly {only one digtk 11 one block)
o the CbiR bheat as given in your admission card, Please sec thal noblock islefl un filled
and even Zovos appeaning in the Centee Code Mo are comectly transferred 1o he a pRropriate
wiocks oo the CMR Shect as shown in the cxample given in the OME Sheet. For ull
subscquent purposes, your Centre Code Mo, and Kol o chall remain the sime w5 given
o Ehe A dmassion Card.

3. The lestis in TWO Pars. Part-I consists of 90 questions and Part-IT also consists of
o0 queslions.

3. allguestions in Partal and Pact-10 varry ane mark cach,

4, Since all questions are compulsory, do net try o read through the whol gueslion paper
b Fore beginning 10 answer i

5. Leginwith the (irst question and keep trying one question afler anather tll you tinish bhath
the Tarts.
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0

14,

L3

11 your do it knaw the answier to any question, do not spend much time on itand pass ento
next one. 1 time petmiis, vou can come back 10 the questions whivh vouw have left out in
the first instance and oy Hem again.

Since 1he e allotted to the {wo parts of this guestion paper s very Tnnied. vou shoukd
make the best use of it by pot spending 1o much time on any queston.

A hlank pape is provided for rough work atthe eod of each part.
Hememhber, you bave to shade answers oo a separate OMR sheet provided.

Answer to cach question is 1o beindicated by SHADING the circle having the number
ol the correct alernative in the OMR Sheet [cotn among the ones given for the
corresponding question in the beoklet.

Mow tum 1o the next page and slan answering the questions.
After the examinaton, you shoull hand ever the OMR Sheet to the Invigilator of the iootn.

The candigdate need noi retarn this Question Paper Booklet and can take it alter the
completion of the examination. No candidare shounld leave the examination hall
befure the end of the examination.

This Beeklct consists of 31 Pagesfor 180 Qruestions + 03 Pages of Rough Work +

0 Title Pagesd.e. Talal36 Pages
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Part - 1 : MENTAL ABILITY TEST

Time - W) Minutes

A

Max. Marks : 90

Note : SHADE the vorreet alternatives in the OMR Answer Sheet provided from amongst ihe
unes given against the coresponding questions in the Question Paper Booklet. For shading
the circles. wse o Black Ball Point Pen.

Directiony: Questions (I o 10):

In the number zeries given below, ane ninnber is missing. Fach series is followad by lour
aleernatives { L1 {2}, {3}, {4). One of then is the right answer. [ndicate it as per the instructions.

I, 28,33 31,36, V' 39

(1} 32 2y 34 (3} 1% (41 44
200 125 8004520, ¢

(L1 3 {2} 4 (31 10 {4) 12
A, 325,259,204, 140, 127, 105, 7

(1} 54 (2] 96 {3y 0% {4) 104
400 240, T ] Hbedi i, X

(1) “red (2) M0 (31420 (4] 480
5.0 472010747

{1} 1262 {27 1707 {37 4027 (47 4207
o, 45 54,47 749, 56, 51,57, 53

{1y d8 (21 50 (1) 5% {4y Nons
7. 66, 36,18, Y

(L3 (2} o (3} & (4} 9
& 20, 2001906, 17,135, 14,11, 7 ?

(1% 10, 10 {21 Lo, Lt {3; 13, 4 {47 13, 16
Q0 L% 23, 4%, %1, ¢

(17 100 (2 112 (3 121 (4) 125

3-A
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14, 6. 13, 28. 59, 7

BRIl (23 113 (3 L4 (41 122

Driveclions: Questions {11 m 20);

Tn these yuestions, there are equalions that have hecome wrong due tw incoreect order of SEENS.
Fram the four altematives given below, tind o ihe correct erder of Slgns, So that the equarions
becomne cureel.

11, 95«2 =4_]

|:I.]' -+ = tz} e [3} + = M’] Ty -
12, B+9=9-21

(- =+ 2y + -+ (3 =+ - (4) =+ =
L3, 4001 13- 3x=5

{].l:l — . {.E:I -, +|-_ {3.3 = E - I::'q'::l .:‘:: +| -
14, 7l8=28-13 7

(I i,=0= (23 =+ - 3y - t.= () +.=-
15 Ja=53-7-3

{” 1 +: 3 [2} +:- — {3.} A {4'1 Tt

LB, 12 -¥%9% 5 - 578
{1} _x:’ T {2:} = T + {3:| +-| +~" {4.] =T

I7 M 14+7 =23
[1} L= {2:' =3 ,._+ |:.3.::| = ':4-} = x, ¥

18, 3 +4_TH =4
) —++ (2} +,= = {3] =+.- 4) — =

19, 94 -54+27+10
I::J'::I =t - {.E.} Tn +!_!- t.}_] M {'4.:' o

20 W+3+9-3
[y =+, - (2] —++ 3y A+ 4y =y

4-A V-116
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Directions: ¢ruestions (21 o 30):
Ineach of the following questions, a sel of figures carrying certain cheracters iz given, Assuming
that the characters in each set follow a similar paitern, find the missing character in each casc.

RONY

(1) 10 (3) 20 (41 25
) . . .

(1y 13 (21 15 4 19
23, 1

o |aSj§%e$U| t.1n
14, 44

13 35 EE

37 | 7 | 39

{1y 22 (2) 33 (3) 66 (4) 77
25,

48
(1) z? {21 33 (1) 54 (4] 64

268,

(2y 2l {3) 236 (4) 255
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27,
2y %1 (3 243 (4] 42
28,
(21 12 (3} 13 I E
29 g4 (51 23
|1z] [1R]y T 11
(16 (7} 21 (3 61 (47 ®
30, [s1]11 [e1]
a4 | 30 | 32
a5 | 7 |43
(1 25 (2) 27 (3 18 (4} 2t

Directions: Questions (31 to 40):

The follpwimg qBicstions e based cosople atdthmetic caleulationg, There are four altematives
given under cach ohestion. ATer ideatibang (he right ahsier, indicate it a5 pet ipstructions.

3. 47638 + 635 - 4125 =1

{17 43418 (23 41448 (%} 44158 (4] 34148
32, BOTES 1 3 -o45i- 1243 +63 ="

(1} BYT43 (27 27u4l (3) 27843 (4} §7743
Y T N L CI
20, -,"I'Igﬂ lE-'I'lJI:'—.

{11 v% {2) 4% {3t 14 {4) 24
14, 152435 - 42005 + 987.52 =1

{1 700,455 (2) 08455 (33 719,433 (4} 718455
Loa3t g
35, =

13- 39

(1} &7 {2] 87 {3) 77 (Y 107
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A

S, DA0T = 000009 =7

(1) 0.0083 (2} 0000063 (1) DODDDGIAZ (4 0.0000062
37 s ussanTo2t 29

(L 1% (2} 109 (1) 9y (4y 129
3%, 512 si0d4=08)="

(1) 6hd {2) 164 (33 16 4y 118

54127
W, ——=?

13

(1} 13 (27| (3y 169 4y 17
40, V¥ 4+1=244 7=

(1} 5 (14 (3} 3 (4} 2

Directivns: Questions (41 oy 3)):

[0 each ofthe Following questivng, there are acerluin relationship between twao given words on
e side of 5§ and one word 15 grven an the another side of ; ; while another word is 1o bo found
from the given 4 alternarives, having the same relation with this word as the words of the given

piur. Choose the correct alternatives.

41, Crighat RunsrsFoothall=

{11, Pouns (3)_ Goals (3} Fenalpy (41 Lel runt
42, Stawe; Slate 'ancil ; Dook ;¥

{17 Pen (2} Rubber (3} Seale 41 Stationary
43, Bone: Skelton :: Blood

£y Lye (2} Eur {31 Wein {41 Shkin
44, Hogpital : Doctor ; ; School 2 7

{1y Lesson (2} leacher {3) UBlackBoard  {4) Book
45, Lock : Key:: Chair: Y

{1y Cup {2} Glass {3] Plare {41 Table
d6. Cirele : Circumiference @ @ Square - 7

{1y Perimeter {21 Aren {31 Silc {4) length
47, Video - Casscue - : Computer ;7

(17 Real {2) Recording {3y Files {43 Tloppy

7-A
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48, Thermomeier ; Temperature © - Hygromerer ; ¥

(1} Pressurc {27 | Iuradicy {3y Density (4r  Relalive Censity
44 Vs Drover s - Acroplane @ ¢ -
(1} Pile (23 Wheeler (3 "Mawcher (4 MNope
Atk Japgery: Sweet ;s Chilli : ?
L] Sour (2p  Salt (3} Hol (41 DBiller

Direclions: Chuestions {31 to Hik);
Inthese guestions a fgore (X) is given with three parts and fourth with * 7 mark. Find the fourlb
port from the adiacent figures Lo complete the fgure.

51,
{1} (2] {3) (4}
B (2 Z (3) 3 41 4
52,
= |
td (2 {3 {4
gy 2) 2 3) 3 4) 4
53, _
1 I
() i {2} (3} (4)
iy 1 (2) 2 {3y 3 (4} 4
S s
=1 7
. P
= /I
(X) (1) (2) (3) {4}
(1p | (2] 2 ENI! {41 4

B-A V'l].ﬁ'
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{4}
(41 4
[3) (4]
(3y 3 (4} 4
(X] i) (2} [3) ()
(1% 1 (2] 2 (3) 3 4y 4
EEI .
(X} (2] {3) L*l
(1 | {”} 2 {31 3 {4y 4
50
(1) oy (3] {4}
(2y 2 {31 13 {4y 4
6.
= o ] *
e BB
i1} (2 (1] .
(2y 2 {3] 3 {43 4
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Dvirections: Questions {61 to Tk
[veavch problem, ou of the Four figures madked § Ly, { 2}, (3) and {4}y three are sitnilar in a cortain
manner. However, one figores is nof like the ather ihree, Chooze the figure which is diffarend

ey 1he rest.

51. 'F Tua '
- ol
]
{1} (2} {3) (4}
(17 | (2] z (33 3 4y 4
62,
U} (2} (33 (4}
{1 (2} 2 {3) 3 (4) 4
B [5\[ < s
) i) (31 (4]
(1) e (2p 2 (3} 2 {41 4
& [ 1 | & I}
=18 %
(1) {1 (3) i4)
(O (2 2 (3} 3 (4} 4
| ‘
(1 {2) {3} {d)
(1 1 {2) 2 (3 3 (4} 4
B, ¥
; —— £ ke ——f
il {2) (3) (4
ST 2 2 (3) 3 () 4

E-

Y-114
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Ty —L\/R

(1 {21 {37 {4}
(3 1 (2) 2 (33 3 @ 4
A8, T
VoY IAA VY
T (2) {3} (4}
1 (2) 2 3) 3 {4y 4
a0
| A F|Z|E
(2 (3) (4)
m 1 {2y 2 (3} 3 @y 4
0. P . I O
ol @n e @
(1 .2 (2)°3 @) 4

Directions: Questiona (71 to §0);
In the given five altemnative {13, (2}, {3}, (4}, {3} figurcs, which three can make a square. Find.

@v f < D

13 (3
1,4, 5 (2) 24,3 (3} 1,2,3_ (4} 2,3, 4
(1] (2] EY (4] (3]
(ly 1,2,4 (2] 345 (31 1,43 {47 1,35

11-A
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g 4 & /3‘ %
y (2) (3
(2) 1,25 (3 2,34 (4} 2,4,5
(4) (5%
iy 1,23 2y 1,2,4 {3y 1,35 (41 1,4, 5
T35,
(1) (2} (3} (4} (5}
1y 1,3, 4 {2} 3,4,5 {3y 2,3,4 4y 1,35
6.
élaﬁssﬂ esultldn
3 27 1,2,3 3y 1.4.5 (4} 2,3.4
’ E 4 O 7
{4} (5}
{1y 1,43 {2y 2.3, 4 {31 3.4.% 471 2,4,5
>~ ﬁ ‘Q S w
{1}
iy 1,23 (2] 2.3,4 {3) 1,3, 4 4y 2,315 N
V-116
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A L de

LI} (2 ()
(ly 1,2.3 (2T 1.3.4 f3y 1.3.5 i, 4,5
B, :-, T Q : 4
(1} {2] {3 {4)
{rn 1,3 2y 2,34 i3 1.2 4 {4] 2.4, 5

Mreclions: Cquescions (51 to 90

Each ol the following questions consist aftwoe sels of Agures. Figure A, B, C and D conatitute the
Preblem secwdiile figures 1,2, 3 and 4 constitote the Answer Set. There is a definile relationship
hetween Figures Aand B. Fstablish a similar relationship betwesn figures C and D by selecting a

suitable figure trom the Answer Sct that would replave the question mark (7) in [gure. (0).
¥, Frublem Frgunes:

OBIO] 2]

{A) (B 1) (D}

A e Tizaris:
Bt
il ] '

(1+ ¢ (2) 2 i3 3 4y 4

w2, Problent Fioores;
4|7 |

v 4
LA B L) [ ¥}
Answer Figunes:

e

(1) 1 .- 2y 2 (3 3 {4 4
I3-A V'Ilﬁ
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231 TProblemn Figures:

Q01T

T

{(A) (B) Wy D)
Answer Figures:

—_—e e — — —_—

I ! I I

d L 1 1

M @ 3 @
(1 (2} 2 (3) 3 @ 4

84, Prublem Figures:

eS| ?

() @ (D
Ansiver Figures:

esult.in

(1 (2) 2 d)y 3 4 4

B5. Problem E Larea:

O <l )]

(b} {3} () i

Answer Figures:

==l (1=

[0 (2] {3 {4}

ot @ 2 (3) 3 (4) 4

14-A
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8.  Problzm Figure::
Hﬁ S| | 2
[A) (B] L) e
Answer Figures:
(n (2 {3 (4]
(1) 1 (2y 2 {3} 3 {4y 4
LI Problem Figures:
L no |l < T ?
(&) (B] (C) iy
Answer Fizores:
Result.in
[ |
(1v 1 (2y 2 (3} 3 (4) 4
8. Problem Figures:

QO]

(ab (B} (C) (L

Answer Figuaoe:

G| e |3

(1) (2] (3) {4}

(1} 1 (2) 1 3y 3 (4) 4

s V-116
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g Pruboem Futoges:

—

R ANE

LA {B) i} {r

Anweer Fipogigs

Iy 1 (2] 2 (3y 3 (4 4

S0 Problen: Fiaures:

-""-\.I.I.-"‘«I LY T —‘iD
el a j?E 2

(A (B} [ (I

Apgider ey

esult.in

(1 1 {21 2 {31 3 {4} 4

16-A

Y-116
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SPACE FOR ROUGH WORK
ClassResult.In
_— V-116




NMMS(E)

H A
ClassResult.In




NMMS(E)

Part - IT : SCHOLASTIC APTITUDE TEST

Time : 90 Minutes

Mote :

11 Subject. Quesdon Mo, and Marks allofed;

E],]\‘u.- Suh_jnm Chuestion N, | Marks
IF Physics 91 1w 102 12

B 2 Cherisiry 10310 113 L
5 Binlogy 114 to 125 E
4 Ifatheinatics 126w 143 Ef_ll_
5 History 1446 o 135 11)
. Geography 13 to lﬁé 1 _lD
T Political Science 166 10 175 10
% __ | Economics 176t 180 5

A

Max, Marks : 90

i} SHADE the ¢ircle haviog the correct altarmatives in the QMR Answer Sleet provided,
from amongst the ones given against the corresponding questions in the Cluestion Paper
Booltler, For shadinz the cireles, use 2 Black Ball Point Pen.

13-4
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a7.

PEHYSICS

XoVelocioy of a Busis 72 lunhr

Y Welocity of a Car i5 45 mfses

2 A Van travelled 60 km in 40 minules

10X s the velocity o Bus, Y s velovity of Car, £ is velociny of Van,

i1y X7z (2) X=¥<7 (3) X=¥Y=>ZF (4} X«¥Y=ZF

bdatch the following.

1 Motion of blades ol a ceiling Lan ap  Oscillators motion

i Mouoo ofar aeeew firom a bow by Rotawry motion

i) Mouon of the earth arownd the sun c)  Translatory motion

) Moton of the needle inthe di  Translatony and rottory motion

cluthes stilching tachine
{1y 1-a wi-b dii-¢ iv-d
{2) i-a l-c  ii1-b ivad
{3) i-b  ii-c dd-d iv-a

{#] 1-b n-.a  MI=d br-c

9.

Q.

— —_— . ———

Asgeriion (A Llectne bulbs in ol hortses srteonnected m parallel

Feuson {R}:  Bulbs glow brighter when they are connected i parallz],

{1y Both{AYand (R} are cotrect {27 Both (A} and (R are incomrect
PAY (A} s comect, {14) 15 incorrecl {4) [A) s incormecy, (R is correc

Maich the following,

11 Hurmdiey aj  Rampgauge

iy Eawmniall by 51 maxicnigm, plaron thememsler
iy Wind speed ) ydeometer

w Temperature d}  Ancmomcicr

(1F 1-a% n-b  w-d 1v-c
2y 1-¢ n-b wm-a av-d
(3] 1-e¢  m-a dii-d  iv-b
(41 1-d  n=-c  Qli-h iv-a

IU-A. \"lr'l].ﬁ
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5.

X, Y are the objects having same size and made with same material, Anal ol 1 kg on X and
g 3crew of B kg on Y are placed on which object the pressure 1s more

(1 onX
2y on’¥Y

(3} equal pressureon X and Y

=

(4} duta is msutbicient %

HE.

Vibraticns of hack-3aw blades

M is the pitch ofthe sound produced by the back-saw hlade of 20 cm. 1o
Y is the pitch of the sound produced by the hack-saw blade of 5 cm in.
{1y K=Y

(2] X<Y

(3] x7%

{40 Fitch dogs/not depead wpen the lengtbrof the hackssaw blades

o7

oR.

Which of the following is incomeel in the case of [ricton

(1] Frictional force is dependent of the arca of conlact

(2] Fricten iz proporiional to the nornal foree

(3} Frictien opposes the relative motion between two surfaces in conlact

(4}  Friction depends upon the surfaces which are in ¢ontact

I the incident ray incideot perpendicularly Lo the plane, then the angle of rellection.
(1} S

() 1A0°

(3 O

4y 43"

21-A V-116
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o9,

Lt sids Rk side
telcatica of the car in which direction
(1p  tomwards right i}y toweards left
[y upwards (4 carwon’t move

L0 Mirrors which fivmnonly virtual images
(1} plane mirror, convex mirmoe
(2) congave mitror, plane mircor
(3)  COonveR ITUITOn, SOmCaYS Mirrar
4y only concave nuireor

L. The liquid used io six maximun, mioinwio hermometer 13

(4] _aten

(b1t herourny

(] Naleshol

Wl Air

1y aandb (2} bBande (3} ¢andd (47 oandd

102, =3°C 1cc 15 heuted upta U become vapouc

1Nhe abservations are plofted in the given belonsy graph. Which parts of the gruph represents
the process of melting and boiling respeciively.

{11 ABBL
=i -

(21 BC,DE

{3) CD,DE

L
=y

— |Ernperanry

— Tiuw

(4]  MNonc olths above

21_& \"'r"]].ﬁ
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CHEMISTRY

103, For acidity problem ductors preseribe antacid drozs which comtaim

a)y  bagnesioom hvdroxide Bl o acetale

¢} Nincgar d)  Alvmmivim heydroxide

f17 aandb (27 bunde (21 ¢amndd 41 aandd
104, Among the following which ¢an oot be recycled

{1y IET i2} HDPC (3y P8 (4] LLIL
105, Mlareh the tollowin,

1y Romoving ot grease, oil slains ab  Advmindum hydeoxide

1} Fircexlinguisher b} Cwalic actd

i) Removal of ink stains ¢t Ammonium hydeoxide

i) Cool drinks dpf  Carbooic acid

(1 i-a dl-b  dii-¢  Jv-d
(21 i-b oai-a 0 m-d Ivew
(3) i-c di-a dii-b o dvaed
(4t i-a  di-b di-d o o1v-¢

16, Methyl orange Phenolphthalein | Turmeric solution
Lemon Juige tred colourless Fi
Detargengsoap water vellow i Ked
Distilled watery € F C » (X calolghess vz ey

Thigololrs X YZars ) « D L &% & oo 0L
(1) red, colourless, ved (21 yellow, colotrless, pink
{3y wellow: pink, yellow (47 red, puok, red

7,

Chue Lo celease of gas lime water tumed milky while, The milky white snbstance
conli g
(L) oeygen, caloiom oxide f2)  1lydeogen, calciom carhonate

(31 Carbondioxide, caleiom carbonate {4 Oxygen, caleivm carbonale

_— V-116
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108, B Thennoplastics soften when heated.
£} Therosetting plastics which meoolded coce can’t be soflened by heating,

{11 Wis correct, O is incorrect (21 P oand Qare moerres
(31 is incoreect, U} 15 comecl (4)  Fand{)are correct
140, Arvangze the metals copper, iren, Zine in descending arder aceording o theis raactivity
(L7 Zme, Iron Copper (21 T Zane, Copper
(3} Copper. Zine, [ton (4] Zing, Copper, Lon

110 1dentify the wronp statement.
(11 lhe mixture of aluminium and copper is used in the prepacation of ¢oins.
(21 The mixtwre of zold and copper is used in Lhe prepacation of Jewellery,
(31 The mixture of iren und carbon is used in the preparation ot steel
(b1 The mixwore of aluminivm aod cacton 15 used in the preparaton of slatues.

111, By sprickliog siall quantities of in water will prevent brovening of vegetahles
wler culling.
ap o Winegar by Lemen Juice
b Ascorbic acd dy  Witne awid
(1} a,b,c f21 boood {4 a,¢,d (d1 b,

112, Match the following,

1] ﬁ‘ al Wash

i1 —.l b Blench
i) ‘\C"‘_""y" ¢l Iron
vl ﬁs dl Dol bleac)

(1) fen  ii-b dli-e iv-d
(2 i-b  ii-c  dili-a4 iv-d
(3 i-b  di-c  ifi=d iwes
(4) i-u  ii-b  dii-d iv-c

113, Choose the correct slatements mnong the following.
al  The gas we us2 in kitchen s in the [eon of yuid incthe cyTinder. When i cames ol
Fromy Che cylindear, it becomes a gas. This is a chemical chonge,
by The burning ol gus ¢ome from the evlinder 15 o ¢hemical change.
el Bactetia digest animal waslz and produce blogas. This 16 o physical change,
dy  The biopas barnt a5 a fuel s o chomival chanpe,
() a,b,d {21 ab.C {3 boeood idr ae,d

i V-116
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114.

RIOLOGY

Dhuring the confirmalion of presence of [ood eomponents, dack viclet caloured subsianee
is formed when it is treatked with copper sulphate sefution. This determines the presends
ol os sonpound

115,

114,

{l] Fals {27 Carbohyvdrates (33 Froleins (3% Vilarmns

Which of the [ullowing bases iz used as a tire exlinguisher’

(1} Aluminiom hydroxide {27 Ammonium hydroxide

(3y  Calcwmn bydroxide (4] Potassivem hydroxide

Match the following.

i1 Ticand Dyc 23 Emwtions

11 Dacillus thuringiensis by Scabies

Wil Jan swammerdam c)  Jamadaci

) Adrinalin d)  Observation and deseription of micro
GTRANILMR

v Miero Anbropods et Vo pesucide

{1y j-d  diec  dli-b ived  ¥eu
(2) i-c  ii-e  lii-d dv-a x-
{37 i-c  di-d dii-e ivea ¥-
{d) i-d g di-c  ai-a pe-g V-

IO F T

117,

L1,

115

Amount of solacencey uiikised fugpucfosss 6f Clabal heat, gvapotation of water onthe

carth

(11 35% {2y E% {3y BH-E5% 4y 50%

Which of the £l lowing statements is incomeel?

{11 Red Foa, Lion ate the endangered species in India,

(21 The Deccan wingless grasshopper is scen wnly in the Rahi scason,

(3] Mensitual cyele in woman stops at the age ol 45-530.

{4} Louis Pasteur discovered the contralling measuees for mictobial disewses cansed to
the =ilk moth.

The viven organism in the above pictare is a bype of

{17 DBactetium {21 Protozoa {3) Fungus f43y  Alpac
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20. 1f Zyaote denvtes )
Seed denotes * /N
Mew plants denotas [j

ldentify the sequential order of formativa,

i1 “1% {2} @@E {3} ﬂ% (4]

121. Which cf the following plant produces new plant ftom the epiphy lous buds [LEn_f huds).

(1 Lillv (2y  Dallia {3y Sirawbemny {4} Diznonia
[22. Match the Followiog.

i1 Chileh ay  Funpus

i) Porificalion of drainage water b}  Loom

i1t arness ¢)  Haustoria

vy Parasitic plant d)  Cirast

¥ Cercospord €] Barscreen

i i-d  di-e  ili-c iveb  ven
3} i-¢  ii-b  Gii-d iv-a v-e
(3% i-u  n-¢ di-b dv-d v-e
4y i-d ii-e  dil-b iver wv-n

| 23. ldepwifathé correct staements framathe Tollowing.
ail Caseons exchangc inplanls.aeenrs only through stormana,
b1 Sladécrivorrus ploms grrs ot in Nitezen delicisntseils,
il aistrae
v 15 also toue
(2] qis false
b s e
(3} aistroc
1115 Fals=
(47 ais falsc
b is also false

124, Pat i
{17 arype of silk available in Northern [ndia
{21 utype ofsilk available in Wesieen India
(31 atpeofsilkavailable in Bastern India
(4} aivpe ob silk available in Southent India

125, This cell vrganelle can be recognised by using Methylene Blue solution.
(1Y MNucleolus {21 Cellwall {3 Mucleus fd)  Cytoplasm
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MATHEMATICS

126, 105 —{-1])' + (- 1 1 (17" and
vl (=t 4o =P thenx pis
(Ll 016 (2y 2E (31 0 (41 1014
127 18 = hﬂ.w
by 85+ 9y + 2y
(13 & 7 = ) (4) Al ofthese
b ¥ of
128, 1F 7" = 2441 whepe cand b ave positive integers and 2 = 1. thenwhich ol the [ollewing i
(ore} corrcot?
I} a=bh
y  a=h
1} a<a
i1y Eitherlorlll  (2) FRitherTlorlll {3} EitherTocll (4] Tonly
L 2%, Find the toal ¢ost of levelling the shaded path of uniform widtt 2 m lid in the tecrangular
field showi belesy, iFthe ate per m® is TG
N iy 7 g
+
I5m
¥ 3m £
{1 T 12600 {20 T 16200 i3y 15040 (4 T 12000
: dx=5 3x+3
130, Which of the {ollowing is a solation of Bt AN x4 !
(1} x= 3 {2y x— -2
(2} both (1) and (2} {4)  neither (1} nor (27
131, The cnean ofe, b and ¢ is seme as the mean of &, 2e and o then which of the tellowing is

correct?
(1y a-d—¢ {2}y h=c=4d {11 b=c¢ {4) g=c+d
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Ix-1 T -3 a-h

132 fo= = and =1 lhenx—
3 4 5
{2 21 4 (3} 3 (4 3
':-_.! 1017
123, Thevalveof 3% + 8% =
{1y 512 2y §21 (3 125 4y 215

wf=r

DR sty VETF PR LI
134, The following are the steps involved m Sinding the values Gf{ﬁr ’ :] ’ (r.‘?"’ ! :I {ﬂ J
Arrange them 1o sequential rder

a) Gi r-vl[= —_I']I”[_H.z}{_v—: ]{ii +x|[s=x]

By af=1
2_ 3 I__2 I
L!::I P R
|:|:| I_:?';"—_'r']-r_;'?—::'-r::-.l.:'
(17 a,d.c,b 2y ac.bod {3 a,cdb i4) a.dbg

135, The valoes of x. v anel z i the adjacent diageam
(1 x=383°%y=47%z-42"
(3 x = 92%, 0= B8 Pra 50
(31N 677 292°, = 880
(41 k=83 =020 =477

136, Each side of a triangle is increased by 10 con. £ the rawo of the perimeters of the new
triangle and the given triangle s 5.4, the perimeler of the ziven tnangle

() L8 em (23 120 em (3} 100 em (4} 90 ¢m
137 ‘llljﬁx-l']xz_l’.’_
1I| g 5 28
1 3 I 3

Iy 1= 7y 2 3 I- 4 =

(1} i ey = ¥ s (4} f
. [0.85 {0,105 + 0024 - 0.008)

|
iy 0022 %0.25%1.7

0r 310 2) 11 3 JTI (4} Ol
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1359, The rativ of the present ages of taro brothers is 1:2 and 3 years back the ralio was [-3, what
will be the eatice of their ages aller ¥ years

{ly 14 2y 23 {35 {41 3.6

1. A single discount equivalenl W two successive discounts ¢l 20% and 5% is
(1) 23% 127 24% (3y 23% 4y 26%

L4 1. Twonmbers & and B3 are such tiat Lhe sum of 5% of A and 4% of B 1s tvo-third of the stm
aF et ol A and 3% of B, the ratio of A:13 15

(1 23 {2y 1:1 (31 34 (4T 4:3

] I
142 Tf ¥ 1 ==-2 then ¥ -5 =
¥ ¥

(L0 (23 -1 (3 2 (47 250

143, [nthe adjacent figure ABCD is a squarc of side & cim and FM L AB, the [enpth of MU =

(1) 5@'5 cin 1] C

(2} 6y5 o l‘l’(
(34 445 am ‘?A

(4] TUE em

Pyt R
144, T ¢} {E,_ﬁ}_{a_b}._thenl"ux1QE.|J.-'—Ru:'I—

Iy PR (2} x+p+r= {3) a+b+o {47 0

145, Statzmend (A1 (1024309 = 15
Slaterment {B) @ [[6}+F =32
(1) Loth the stubements (A) and (B are correct
(2} Both the statements {A) and (B) arc incorrect
(3] (A) i comect, (B iz meorrect
(41 (A) s meorrecl, {BY 1s correct
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HISTORY

146, Which part of an iseeiption is called *Prashasti’®

(11 mvogation part t2)  lhalf-g-part

(%) Third part (41 Cnduofihe pan
147, Kilab-Al-Hind the aealic ook was wrilten by

(1t AlBimun (2] Paes

(3+ Muceo Polo (41 Abdual Razzak
L48. In 1190 ATda Mew Kingdom was established 1o Delhi by

(1 Tughlugs {2} Sultans {31 Muglals {4] Luodhis
[4%. Sri Krizshoadevarayva ruled from

(1 1336 AD- 153357 AD {2] 152940 - 1542 AD

f3y 1585 AD- 1614 AL (4] 139 AR - 1529 AD
i 3b The firsc Muoahal emperor was

1ly Babwr (2} Aklwr (3} Hhumayon (4} Shahjahan
151, Who constructed the Cruwh Minar

{11 CuibuddinAibak (2} Babur

{3) Humayun (4y  Akbar
152, The battle of Plasscy was fought between

{130 Tipu Sultenandthe Batish {Zh= Muzaftar Jang and thetritish

{31 Sirajudddavita andahe British fd T he ughal cnaperar and the British
153, The Fjecnna World War was broke oulin

(L1 1914 {2) 1914 (3] 1hw3d 4y 1829
153, Name the fallowang eoastal district in given M_np.

(1) Ciuntur

(2} Krshna

(3} Prakasam

(4}  Wisakhapatnum

155

atch rhe £l lowing.

i1 Muansabdar Y
1) Akbar b
1y lagiedar ]
1w Samindur d]

(1 1-d m=-¢ iu-b 1v-§
(2y i-a -7 ai-d iv-c
{3y i-a f=d  di=¢ iveh
(4 i-b il-c  dii-d iv-a

Hereditary chict
Revenm assighment
Sulb-i-koul

[tk

3-A
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GEOGRAPHY
1%6. The angle at which the rays fall on the earth’s surface is called
(1) insclilion (21 solar radiation
(31 earthradiation (41  angle of invidence

157, Conventional syimbals ave used i the *Topo sheets™ of survey of India. E:?h “this conventiongl
symbol mdicules

{1y bt (2y  deserted fout (3 fank 4] Broken pround
158, 'Pne’ forvests usoally found ia thas region

{1} Egusatorial region (2} llimalayas

{1} Cnastal Andhral'radesh (4} Rayalaseoma

159, The highest peuk in Adloes is Mot Kilimanaso in
(1) Tlanzania (2 Emmt (3} Ethiopia (4}  Nigeria

1640, From Worth to South which one of the following 15 the comect sequence of the given rivers
A Magavall

) “vamsadhora

L) Codavarnt

D ¢ Eorigla

(e AR C b B, AL TR {3y, 13,00 C Ayl BLA DO
161. Al Itisushiny mincral By s weed i elecirical industoy

) Ut eomes in thm layers ¥ Iis a non-conductor of clectricity

The abaove statcinenks arc relaled o this minel

(1t Bauxile (2] Mica {}) Ashastos {3y Feldspar
162, Match the lollowing,

11 Junc 21 ) Sunoothe Cqualor

iy March 21 by Sunanthe Equalor

ik December 22 £y Suwonthe Tropicol Cuncer

Wl Scptember 23 b Sun o the Teapie of Capricorn

Iy i-¢ m-u  wi-d jw-b

(2F i-a im-c  wii-d iv-b

(3} L-a n-b  ni-d -
(A 1-¢ ii-b aii-a iv-d
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162, Mr Ravi wonts ta know the boundary of Andhra Pradesh. Which of the follovwing map dewes
Il him'

16,

A
B}
)
i1}
(3}

[ndia - Politicul mup

India - Physical map

[ndia - Condour lines map

(A0 only {21 (Blonlv

{C}only 147 (Byand (C)only

There are two main groups e lerred 1o.as Eskimoes © Inuit and Yopik. 'Touit® in their [anguage means

A)
12}
C}
(1}
(3]

the peopla

the ariginates

Snow shoe-peltar

{A) only {27 (B)only
{C}only {41 (Arand(B)onky

165,

= mrEr R R ER BT MW W W W TN B W A

—————————————————————————— Beeliel Pealuces

O e L e

. i B e e i e g

....... of an {xean

It.IN

In this picture " A" refers to

(7
(2]
(3)
(4]

Trench

Deep sea plan
Conlinental shelf
Continenial alope
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146,

167,

L6R.

POLITICAL SCIENCE

Oovermunent of Andhira Pradesh enacted the Andhra Pradesh waree, Tand and Tress Protection
Actin

(1 1902 (2} 1985

{3 1990 (41 2002

The dealting committee chair person of the lodian Constitution s

(1Y L B.R. Asnbedkar {?) Dr. Babu Rajendra Frasad
(3 D Eaker Hussen {41 D Farukh Abdullah

Wha is the Mollowing person 1s most known for his efforts 10 educule women and lwver
castes as well as the maszes;

(1} Savitrtbai Phule

(2} Penvar W Rama Swani
[3v  SriNaravana O

(41 Iyotirae Govindrao Plale

6%,

The most popular folk geddess of Andhra Pradesh is
{ 11 Pochanena [2 b dvlalannnnia
1300 Gancampyd (4} “¥ollwuma

L

The Governar of the Stae is appouted by
f1y Prime Minister {21 Chief Minister
(37 Presidend {41 Chiel Justice ol Supreme Court

171.

172

The first Union Lew Minister of Independent India is
(1F D 5K Asubedkar {Z)  Smt. Vijaya Lukshmi Pandit
(3]  Sardar Vallabhbhai Parel {47 Subhash Chandra Bosc

The constitution of India entrusted the responsibility of conducting elections in India to
{1] TheSupreme {Court

{2) TheElection Comimission

(1) Central Government

{41 The Stale Govermment
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175,

Mateh lhe tollowing.

11 Soveretgn al  Govenunent will not Bavour any religion

i1y Republic by People have the supreme right to make
dacisions

1] Fraterniny ch  llead ot the State 13 an elected person

) Secular dy  People should live like brothens and sisters

{L; i-b -0 q-d iv-n
{2 i-1 u=-d -k iv-¢
i3y i-¢ -k - iv-d
4y a-4 o-c¢ ui-b o jv-a

| 74

175,

“lo politics we will have equality and in social and economic |ife we will have incquality. In
polifics we will be recognising the principle of one roan one vote and one vote one value,
In aur sacia)] and economic lile, we shall, by reason of our soetal and coonomie structyre.
vonlinue 1o deny the principle of one man one value. How long shal] we centinue to live
thiz Jife of contradiclions? How loong shall we continue Lo deny cquality in oue social anmd
veonormic life? 1fwe continue to deny it lor long, wewill do so only by putting our political
demwocracy in peril™.

Whosc siatement was it

i 1) #0ihetma Gandlji (2 e B E. Awhedkar

(3 Jawaharlaltelmy {4 "=, Babu Ryjendra Prasad

Trn India ony law reluting to Money and Bankiog can only be made by
(11 Parliament

(21 Reserve Bank of lodia

{31 Electwitn Connmission ol Tndia

(4] wWorld Bank
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ECONOMICS
176, Inthe Mauryan Period “Pana™ was ihe standard corrency, Itwas madeof
(1) Gokd {27 Silver
(3] PEronze {4y Copper
177, Henry Ford started this method of production to preduce more cars quickly,
(1] Combined Harvester (2} Assembly lineg
(3] DBarter sysiem {34} Faclory system
178, lnwhich position India is the largest producer of medicings 'n the world.
(1) (2 2 (3) 3 (4) 4n
179, He devised a method of laying road wsing broken slones.
(1) Boubion () George Stephenson
(31 John Leodon be Adam {43 James Walt
180}, Amange the following stages of paper-imaking process in comect ordet,
Al Culling
B) Pressing, drying and rolling
) [ Chipping

TV “Spreéadingthe pelp
Er Making of wood pulp

{1} CEILEBA 2 ABCDE
{3 C.D,BEA ' {4} A,ED,B,C
[l o o

35-A
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SPACE FOR ROUGH WORK

ClassResult.In
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